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(2)
(b) Fill in the blanks : 1x4=4
(7 . : .
,.-R\mnd.zf,_:n_ () Standard cost is the —— cost.

(i) In marginal costing system, fixed

_.\EJDY.E.RNO w_n\ cost is considered as —— cost.

Unallocab o
(ii)) Income from investment is a cash
I .2,.4,.,}\ flow from —— activities.

A budget manual spells out —— of

N ~.:
W—MQ#J, m.-.vb..ﬁn. \ \ . . .
oy e various executives concerned with
- .‘.dcnmmn.

2. Write short notes on the following : 4x4=16
(@) Limitations of Management Accounting
(b) Responsibility Accounting
(c) Break-even Analysis

(d) Variance Analysis
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(3)

3. (a) “Management Accounting has been
evolved to meet the need of
management.” Explain this statement. 11

Or
(b) Discuss, in detail, the functions of
Management Accounting.
4. (a) The following information is given by
Bharat Ltd. :
Profit—¢ 12,000
Fixed Cost— 24,000
Margin of Safety— 30,000
You are required to calculate the
following : 2+3+3+3=11
(i) Profit-volume ratio
(i) Break-even sales and actual sales
(i) Sales to earn a profit of 10% on
sales
(iv) New break-even point, if variable
cost is to be increased by 25%
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(4)

Or
(b) “Marginal costing is a very useful
technique to management for cost
control, profit planning and decision
making.” Explain. 11
5. (@) The following information of sales has
been made available from the
accounting records of Gama
Engineering Company Ltd. for the last
six months of 2011 and for January,
2012 only in respect of product X
produced by it :
(1) The units sold in different months
are as follows :
July, 2011 2200
August, 2011 2200
September, 2011 3400
. October, 2011 3800
November, 2011 5000
December, 2011 4600
January, 2012 4000
(2) There will be no work-in-progress at
the end of any month
(3) Finished units equal to half the
sales for the next month will be in
stock at the end of every month
(including June, 2011)
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(5)

(4) Budgeted production and
production cost for the year ending
December, 2011 are as follows :

Production (units)—44000
Direct material per unit—¢ 10
.U.:.nQ wages per unit—< 4

Total factory overhead
apportioned—% 88,000

It is required to prepare—

(i) production budget for the last six
months of 2011;

(i) production cost budget for the
same period. 7+4=11

Or

(p) What do you understand by budgetary
control? Explain the advantages of this
system. 4+7=11

6. (a) The standard cost of a chemical mixture
is as under :
60 kg of material X at ¥ 20 per kg
40 kg of material Y at ¥ 30 per kg
A standard loss of 10% of input is expected

in production
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(6)

The cost records for a period showed the
following usage :

110 kg of material X at € 18 per kg
90 kg of material Y at 32 per kg

The quantity produced was 182 kg of
good products.

Calculate the following : 3+2+2+2+2=11
(i) Material Cost Variance

(i) Material Price Variance

(iii) Material Usage Variance

(iv) Material Mix Variance

(y) Material Yield Variance

Or

(p) What is standard costing? How does it
help in keeping control over cost? Point
out its limitations. 2+6+3=11
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(7)

7. (a) The Balance Sheet of Good Luck
Co. Ltd. as on 01.01.2012 and
31.12.2012 were as follows :

Liabilities 01.01.2012  31.12.2012
T (4
Share Capital 50,000 53,000
Long-term Debts 14,000 13,000
Retained Earnings 28,000 37,000
Accumulated
Depreciation 21,000 25,000
Sundry Creditors 20,000 21,000
. 1,33,000 1,49,000
Assets 01.01.2012  31.12.2012
¥ 4
Cash ° 20,000 25,000
Account Receivables 24,000 27,000
Inventories 31,000 32,000
Other Current Assets 8,000 7,000
Fixed Assets 50,000 58,000°
133,000 149,000
Additional Information :

(i) Fixed Assets costing ¥ 12,000 were
purchased during 2012 for cash
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(10 )

2. oo frARa v Gl fera 4x4=16
(@) fEE EorEEE el
(b) ERmS! fAfaEad
(c) T-feae Ressa
(d) fwem Rossa
3. (a) ““ofRowR AcEE @R oo e
e 41 02z 17 TfECH! A 4 | 11

ClES

@:m%_ﬂmzﬁ%%mﬁmﬂgﬂﬂ
40 | .

4. (a) SRS EHHET SAPRHR TS (20w :
#®—12,000 591
¥4 am—24,000 B

e MW—30,000 531
2 v fofe ot wore e sy o :
_ . 2+3+3+3=11
(i) S-S TS

(i) “-Row AP ore a3 TH
(i) AF e[@E 10% =S T IR

oA (2l R wAfae
(iv) “ResIm @ 25% @& FACTF TG
wa-fawaet
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Zlesl)

(b)) e e, @S ARTE SR BT 2z A1
A I Fefy o1 wfS o @ e 177
A 11

5. (@) o FeRmir @ ffices Reem 12
%41 T4 Tefre T X- F9FS 2011 54
O ®-NZ4 WIF 2012 b4 GEEE W29 1@

RF o wore fran 274 :
(1) fafew wrze RF sRa=mrn gamema i
3 :

gelg, 2011 2200
1518, 2011 2200
(L%, 2011 3400
R, 2011 3800
ACSTA, 2011 5000
ez, 2011 4600

AL, 2012 4000

2) @ MW S @A AR
wy-Tesfifre AMA (work-in-progress)
enfeEq

(3) o (T, 2011 4 CA) W=A WS
Tg© Afeaean Seofre @« 2’9
oS! r2q RIF “Afrer e
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(12 )

| v forrd Wz W8 a_m&m
o OF ST T
meQ mﬁ.OQ.CO:

(4) 201
TeAM )
(Budgeted production

tion cost) 7
enifirs @ (B4 offIe—44000
o 2 ereme (10 ol
o 2ff oo THR—4 0

e o T T
® e we—88,000 B

. xw, offs R 20 09 T
a0 fom. v ¥, 2 RS g ki
Seore e T 10% 7 ¥ T

741 T
( Continued )
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9T FIER I AR@ FaRRe g
SAPTYZ, C(TYRIRCR :

110 .21, X w31, 2fS Reeare 18 591 2@

90 fF.an. v v, «fS fFeeme 32 b 2@

Pre Teofrs wE Beo o 2|
182 f.am.1

oo Rpfermz 2o 3R fetear : 3+2+2+2+2=11
() w3 Iw Rpfs
(i) @ @ Rpfe
(i) = <z R
(iv) w3 e Rpfe
(v) T TeemEel Rpifs
1341

(b) A I BoeEmd e o aw s 3
QIS T A7 WA ARwerz. Fo
1 | | 2+6+3=11

7. (@ 3T «F @A 01.01.2012 9%
31.12.2012 ©Ifxq Tge-+@ wifes weo fwll

4499
i 01.01.2012  31.12.2012
B B
G AL 50,000 53,000
T e 14,000 13,000
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